

NEPTUNE CAMPUS, NEAR ATLANTIS HEIGHTS, DR.VIKRAM SARABHAI MARG, VADIWADI, VADODARA,GUJARAT, 390007

Ph.No.: 0265-2350630/39 Website: www.neptunerealtygroup.com

WORK ORDER

WO No.

417

SHIP TO:

WO Date:

04/04/2024

NEPTUNE REALTY PVT. LTD.

Contractor Name

GREENWOOD ASPIRE EXP

Sahas Roads & Infrastructure

Address:

Pvt.Ltd GF-1&2/ML, Meghdhanush Complex,Race

Neptune Campus, Sarabhai Road, Vadodara

Course Circle,, Vadodara 390007,

India.MO:919879531402

WO Title

Contact No

PAN:

GST:

GST No:

24AAACN9837D1ZI

Gujarat

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Sr.No	Item Description	Qty	Unit	Rate Rs.	Amount	GST 9	6
1	TOWER A GROUND FLOOR TRIMIX WORK						
	LABOR FOR EXCAVATION (SQFT)	3,619.98	SQFT	6.00	21719.88	18	%
2	TOWER A GROUND FLOOR TRIMIX WORK						
	LABOR FOR GROOVE CUTTING WITH	3,619.98	SQFT	1.75	6334.97	18	%
	BITUMEN FILLING (SQFT)						
3	TOWER A GROUND FLOOR TRIMIX WORK						
	LABOR FOR PCC (SQFT)	3,619.98	SQFT	4.00	14479.92	18	%
4	TOWER A GROUND FLOOR TRIMIX WORK						
	LABOR FOR STEEL BINDING (SQFT)	3,619.98	SQFT	2.10	7601.96	18	%
5	TOWER A GROUND FLOOR TRIMIX WORK						
	LABOUR FOR QUARRY DUST (SQFT)	3,619.98	SQFT	2.25	8144.96	18	%
6	TOWER A GROUND FLOOR TRIMIX WORK						
	LABOUR FOR TRIMIX (SQFT)	3,619.98	SQFT	9.00	32579.82	18	%
7	TOWER A GROUND FLOOR ROAD WORK						
	LABOR FOR EXCAVATION (SQFT)	4,547.12	SQFT	6.00	27282.72	18	%
8	TOWER A GROUND FLOOR ROAD WORK						
	LABOR FOR GROOVE CUTTING WITH	4,547.12	SQFT	1.75	7957.46	18	%
	BITUMEN FILLING (SQFT)						
9	TOWER A GROUND FLOOR ROAD WORK						
	LABOR FOR PCC (SQFT)	4,547.12	SQFT	4.00	18188.48	18	%
10	TOWER A GROUND FLOOR ROAD WORK						
	LABOR FOR STEEL BINDING (SQFT)	4,547.12	SQFT	2.10	9548.95	18	%
11	TOWER A GROUND FLOOR ROAD WORK						
	LABOUR FOR QUARRY DUST (SQFT)	4,547.12	SQFT	2.25	10231.02	18	%
Spc.	As per Latest new revised duly signed new drawings						

Sahas Road & Infrastructure

Add WMM & Trimix Quantity in WO No. 417

2	TOWER A GROUND FLOOR ROAD WORK						
-	LABOUR FOR TRIMIX (SQFT)	4,547.12	SQFT	9.00	40924.08	18	
pc.	As per Latest new revised duly signed new	,					
	drawings						
	Add WMM & Trimix Quantity in WO No. 417						
	Sahas Road & Infrastructure						
3	TOWER A GROUND FLOOR ROAD WORK						
	LABOUR FOR WMM (SQFT)	9,094.24	SQFT	18.00	163696.32	18	
pc.	As per Latest new revised duly signed new drawings						
	Add WMM & Trimix Quantity in WO No. 417						
	Sahas Road & Infrastructure						
4	TOWER B GROUND FLOOR TRIMIX WORK						
	LABOUR FOR TRIMIX (SQFT)	1,308.32	SQFT	9.00	11774.88	18	
5	TOWER B GROUND FLOOR TRIMIX WORK						
	LABOUR FOR QUARRY DUST (SQFT)	1,308.32	SQFT	2.25	2943.72	18	
6	TOWER B GROUND FLOOR TRIMIX WORK						
	LABOR FOR STEEL BINDING (SQFT)	1,308.32	SQFT	2.10	2747.47	18	_
7	TOWER B GROUND FLOOR TRIMIX WORK						
	LABOR FOR PCC (SQFT)	1,308.32	SQFT	4.00	5233.28	18	
8	TOWER B GROUND FLOOR TRIMIX WORK						
	LABOR FOR GROOVE CUTTING WITH	1,308.32	SQFT	1.75	2289.56	18	
	BITUMEN FILLING (SQFT)						
9	TOWER B GROUND FLOOR TRIMIX WORK						
	LABOR FOR EXCAVATION (SQFT)	1,308.32	SQFT	6.00	7849.92	18	
.0	TOWER B GROUND FLOOR ROAD WORK						
	LABOR FOR STEEL BINDING (SQFT)	5,597.41	SQFT	2.10	11754.56	18	
.1	TOWER B GROUND FLOOR ROAD WORK						
	LABOR FOR PCC (SQFT)	5,597.41	SQFT	4.00	22389.64	18	
2	TOWER B GROUND FLOOR ROAD WORK						
	LABOR FOR GROOVE CUTTING WITH	5,597.41	SQFT	1.75	9795.47	18	
_	BITUMEN FILLING (SQFT)						
23	TOWER B GROUND FLOOR ROAD WORK						
	LABOR FOR EXCAVATION (SQFT)	5,597.41	SQFT	6.00	33584.46	18	_
4	TOWER B GROUND FLOOR ROAD WORK						
	LABOUR FOR WMM (SQFT)	11,194.82	SQFT	18.00	201506.76	18	
25	TOWER B GROUND FLOOR ROAD WORK						
	LABOUR FOR TRIMIX (SQFT)	5,597.41	SQFT	9.00	50376.69	18	
26	TOWER B GROUND FLOOR ROAD WORK						
	LABOUR FOR QUARRY DUST (SQFT)	5,597.41	SQFT	2.25	12594.17	18	_
7	TOWER C GROUND FLOOR TRIMIX WORK						
	LABOUR FOR QUARRY DUST (SQFT)	4,100.86	SQFT	2.25	9226.94	18	
8	TOWER C GROUND FLOOR TRIMIX WORK						
	LABOUR FOR TRIMIX (SQFT)	4,100.86	SQFT	9.00	36907.74	18	
9	TOWER C GROUND FLOOR TRIMIX WORK						
	LABOR FOR EXCAVATION (SQFT)	4,100.86	SQFT	6.00	24605.16	18	
80	TOWER C GROUND FLOOR TRIMIX WORK						
	LABOR FOR GROOVE CUTTING WITH	4,100.86	SQFT	1.75	7176.51	18	

31	TOWER C GROUND FLOOR TRIMIX WORK						
	LABOR FOR PCC (SQFT)	4,100.86	SQFT	4.00	16403.44	18	
32	TOWER C GROUND FLOOR TRIMIX WORK						
	LABOR FOR STEEL BINDING (SQFT)	4,100.86	SQFT	2.10	8611.81	18	
33	TOWER C GROUND FLOOR ROAD WORK						
	LABOR FOR EXCAVATION (SQFT)	3,657.80	SQFT	6.00	21946.80	18	
34	TOWER C GROUND FLOOR ROAD WORK						
	LABOR FOR GROOVE CUTTING WITH	3,657.80	SQFT	1.75	6401.15	18	
	BITUMEN FILLING (SQFT)						
35	TOWER C GROUND FLOOR ROAD WORK						
	LABOR FOR PCC (SQFT)	3,657.80	SQFT	4.00	14631.20	18	
36	TOWER C GROUND FLOOR ROAD WORK						
	LABOR FOR STEEL BINDING (SQFT)	3,657.80	SQFT	2.10	7681.38	18	
37	TOWER C GROUND FLOOR ROAD WORK						
	LABOUR FOR QUARRY DUST (SQFT)	3,657.80	SQFT	2.25	8230.05	18	
38	TOWER C GROUND FLOOR ROAD WORK						
	LABOUR FOR TRIMIX (SQFT)	3,657.80	SQFT	9.00	32920.20	18	
39	TOWER C GROUND FLOOR ROAD WORK						
	LABOUR FOR WMM (SQFT)	7,315.60	SQFT	18.00	131680.80	18	
40	COMMON ROAD WORK						
	LABOR FOR EXCAVATION (SQFT)	3,809.20	SQFT	6.00	22855.20	18	
Spc.	Earthwork - Excavation, Mobilisation and Filling work with Jcb, tractors at site upto 150mm thickness. (excess thickness shall be charged proportionately). Dressing & Levelling of Earth with Labour or						
41	required means Labour name LABOR FOR EXCAVATION (SQFT) COMMON ROAD WORK						
	LABOUR FOR WMM (SQFT)	7,618.40	SQFT	18.00	137131.20	18	

thick(compacted) 'VIBRO-COMPACTED' Layer.

Shall be done on existing ready laye without any change if gradient

Laying WMM in a thickness of 125 mm in

proper line, level, grade and camber, compacting the same with vibro-roller etc. complete.

Labour name LABOUR FOR WMM

WMM: Layer-2.

Laying WMM in a thickness of 125 mm in proper line, level, grade and camber, compacting the same with vibro-roller etc. complete. INFRA Labour name LABOUR FOR WMM

42	COMMON ROAD WORK						
	LABOUR FOR TRIMIX (SQFT)	3,809.20	SQFT	9.00	34282.80	18	9
Spc.	RCC/PCC 125 mm thick with SYSTEM 'TRIMIX'						
	RMC free supply by customer						
	Fixing ISMC Channels in required line and level						
	for side shuttering and guide for double beam						
	surface vibrator to construct 125 mm thick						
	PCC floor on prepared and fairly leveled						
	sub-base in required levels. Laying PCC for						
	floor concrete in a thickness of 125 mm and						
	level precisely by using double beam surface						
	(screed) vibrator. The leveled concrete shall						
	be finished by using 'TRIMIX' system of power						
	floating and power trowelling, making palas						
	for clients to cure for 07 days.etc.						
	Labour name LABOUR FOR TRIMIX (SQFT)						
43	COMMON ROAD WORK						
	LABOUR FOR QUARRY DUST (SQFT)	3,809.20	SQFT	2.25	8570.70	18	
Spc.	Laying Quarry Dust in proper line, level, grade						
	and camber, compacting the same with						
	vibro-roller etc.						
	Labour name LABOUR FOR QUARRY DUST						
44	COMMON ROAD WORK						
	LABOR FOR STEEL BINDING (SQFT)	3,809.20	SQFT	2.10	7999.32	18	
Spc.	Reinforcement of 8mm steel 300mm c/c with						
	free steel supplied by customer						
	Labour name LABOR FOR STEEL BINDING						
45	COMMON ROAD WORK						
	LABOUR FOR PCC (SQFT)	3,809.20	SQFT	4.00	15236.80	18	
Spc.	PCC 100mm with free supply of RMC at site						
	LABOR FOR PCC (SQFT)						
46	COMMON ROAD WORK						
40		2 000 20	COET	4 75	//// 10	40	
	LABOR FOR GROOVE CUTTING WITH	3,809.20	SQFT	1.75	6666.10	18	
Cnc	BITUMEN FILLING (SQFT)						
Spc.	Groove Cutting with 'Diamond-Blade Cutter'						
	for controlling effect of temperature stresses						
	on concrete road with bitumen filting Labour name LABOR FOR GROOVE CUTTING						
	WITH SQFT						
				Contract Amount	(A)	130269	96.
				Total GS1	(B)	23448	5.3
				Total (A +	D \	153718	1

Terms & Conditions

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

SAFETY TERMS

- 1) Work Compensation (WC) Policy is a must for every contractor.
- 2) Required all their laborers Aadhar card copy and Passport size Photo.
- 3) All PPES in Contractor Scope.
- 4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.
- 5) Every Quarterly they must submit a service report of their respective machines to the site incharge.
- 6) Contractor has to maintain enough lighting during night work at site.
- 7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms
- * All responsibilities of goods during transportation and unloding at site by supplier and vendors.
- * Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd.

At project site office officialy.

- * Biling amount should not exceed the rate and total value mentioned in this WO.
- * Failure to comply with specification, terms and conditions of this order or accepted delivery. schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

For NEPTUNE REALTY PVT. LTD.
Authorized Signatory